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INVERSE TRIGONOMETRIC FUNCTIONS

Example

1. Range of function  is :

A. 

cos − 1 x

[ − 1, 1]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_a8ESmRXUBlFk


B. 

C. 

D. 

Answer: B

Watch Video Solution

[0, π]

[ − , ]
π

2

π

2

( − 1, 1)

2. Write the value of  from the

following :

A. 

sin− 1 x + cos − 1 x

1

https://dl.doubtnut.com/l/_a8ESmRXUBlFk
https://dl.doubtnut.com/l/_otqAw1EuBhiv


B. 

C. 

D. 

Answer: D

Watch Video Solution

π

0

π

2

3. Select the correct answer :

A. 1

sin(cos − 1 x + tan− 1 x) =

https://dl.doubtnut.com/l/_otqAw1EuBhiv
https://dl.doubtnut.com/l/_IQ4jHZRCVfXi


B. 

C. 

D. 

Answer: A

Watch Video Solution

π

0

π

2

4. Select the correct answer :Principal value of

A. 

tan− √ 3 =

π

6

https://dl.doubtnut.com/l/_IQ4jHZRCVfXi
https://dl.doubtnut.com/l/_mljXvTl3E1Ty


B. 

C. 

D. 

Answer: C

Watch Video Solution

π

4

π

3

π

2

5. Principal value of  is :

A. π/3

B. 

sin− 1( − )
3

2

−
π

3

https://dl.doubtnut.com/l/_mljXvTl3E1Ty
https://dl.doubtnut.com/l/_HDTWeNyP41FZ


C. 

D. 

Answer: B

Watch Video Solution

π

6

−
π

6

6. Principal value of  is :

A. 

B. 

C. 

cos − 1( − )
1

2

−2
π

3

−
π

3

π

3

https://dl.doubtnut.com/l/_HDTWeNyP41FZ
https://dl.doubtnut.com/l/_OVYD5OKW5C4C


D. 

Answer: D

Watch Video Solution

2
π

3

7. Select the correct answer :

A. 

B. 

C. 

cos − 1( ) + 2 sin− 1( )
1

2

1

2

2
π

3

3
π

4

π

4

https://dl.doubtnut.com/l/_OVYD5OKW5C4C
https://dl.doubtnut.com/l/_zehCWt0SdwMn


D. 

Answer: A

Watch Video Solution

π

3

8.  -  is equal to :

A. 

B. 

C. 

D. 

tan− 1( )
1

√3
sin− 1( )

1

2

π

4

π

3

−
π

4

−
π

3

https://dl.doubtnut.com/l/_zehCWt0SdwMn
https://dl.doubtnut.com/l/_HoH3ZraNW9V5


Answer: C

Watch Video Solution

9. Select the correct answer :

A. 

B. 

C. 

D. 

Answer: C

sin− 1(sin 2 )
π

3

−2
π

3

2
π

3

π

3

−
π

3

https://dl.doubtnut.com/l/_HoH3ZraNW9V5
https://dl.doubtnut.com/l/_MLBEIozq9AiL


Watch Video Solution

10. Select the correct answer :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sin(cos − 1 x) =

√(1 − x2)

x

√(1 + x2)

√(x2 − 1)

https://dl.doubtnut.com/l/_MLBEIozq9AiL
https://dl.doubtnut.com/l/_NIaf064zJB9a
https://dl.doubtnut.com/l/_O0X2c7nUVqJT


11. Range of function  is :

Watch Video Solution

tan− 1 x

12. Domain of the function  is

equal to :

Watch Video Solution

f(x) = sin− 1 x

13. Principal value of  is :

Watch Video Solution

cos − 1( − )
1

2

https://dl.doubtnut.com/l/_O0X2c7nUVqJT
https://dl.doubtnut.com/l/_gEv2e1t9im50
https://dl.doubtnut.com/l/_RR8CnzJb2ky2


14. Find the value of .

Watch Video Solution

tan(sin− 1 + cot − 1 )
3

5

3

2

15. Principal value of  is :

Watch Video Solution

cos − 1( − )
1

2

16. Find  when: 

Watch Video Solution

dy

dx
y = tan− 1( )

2x

1 − x2

https://dl.doubtnut.com/l/_1MzvoFAWlHyD
https://dl.doubtnut.com/l/_5nos8qFrsEC4
https://dl.doubtnut.com/l/_DgrdwXOChmDT
https://dl.doubtnut.com/l/_PD4NyIBJhEPO


17. Prove that

Watch Video Solution

tan− 1
√x = cos − 1( ), x ∈ [0, 1]

1

2

1 − x

1 + x

18. Prove that  .

Watch Video Solution

√ =
1 + sinA

1 − sinA

1 + sinA

cosA

19. Show that :

tan− 1 + tan− 1 = cos − 11

3

1

5

1

2

33

65

https://dl.doubtnut.com/l/_PD4NyIBJhEPO
https://dl.doubtnut.com/l/_FCdmWnESspxX
https://dl.doubtnut.com/l/_Ap1yrTefqAqS


Watch Video Solution

20. Prove that : `tan^(-1) (1) + tan ^-1 (2) + tan^(-1)

(3) = pi1

Watch Video Solution

21. Solve the .

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

https://dl.doubtnut.com/l/_Ap1yrTefqAqS
https://dl.doubtnut.com/l/_UZeU2GukqK88
https://dl.doubtnut.com/l/_f6MwYq6RZPor


22. Show that:

Watch Video Solution

tan− 1( ) = tan− 1( ), x > 0
1 − x

1 + x

1

2

1 − x2

2x

23. Prove that :

Watch Video Solution

2 tan− 1 + tan− 1 = tan− 11

5

1

8
4
7

https://dl.doubtnut.com/l/_nTUPjQFa3bit
https://dl.doubtnut.com/l/_vD0sKDu1sCoj


24. Prove that :

Watch Video Solution

tan− 1[ ] = − cos − 1 x
√1 + x − √1 − x

√1 + x + √1 − x

π

4

1

2

25. Find the value

Watch Video Solution

2 tan− 1( ) + sec− 1( ) + 2 tan− 1( )
1

5

5√2

7

1

8

https://dl.doubtnut.com/l/_ZcgmoVCLGsyY
https://dl.doubtnut.com/l/_8IZKUsWWMbsJ


26. Prove that :

 .

Watch Video Solution

sin− 1( ) + cos − 1( ) = tan− 1( )
3

5

5

√26

19

17

27. Solve for x:

Watch Video Solution

tan− 1(x + 1) + tan− 1(x − 1) = tan− 1 , x > 0
8

31

https://dl.doubtnut.com/l/_ODQhi5RDLsoe
https://dl.doubtnut.com/l/_rO6ydZq1ejsB


28. Prove that :

Watch Video Solution

cos − 1 + sin− 1 = tan− 112

13
4
5

63

16

29. Prove that

Watch Video Solution

cos(tan− 1(sin(cot − 1 x))) = √
x2 + 1

x2 + 2

30. tan− 1 = sin− 1 + cos − 163

16

5

13

3

5

https://dl.doubtnut.com/l/_WEKUF6Nro40S
https://dl.doubtnut.com/l/_tIiTUi1BrlcS
https://dl.doubtnut.com/l/_KJAQadktBeDs


Watch Video Solution

31. If 

then find the value of x

Watch Video Solution

tan− 1( ) + tan− 1( ) = ,
x − 1

x − 2

x + 1

x + 2

π

4

https://dl.doubtnut.com/l/_KJAQadktBeDs
https://dl.doubtnut.com/l/_AnHwy6qg4ZMV

